

Examen #2

SOLUTION KEY

① Here, we make the substitution. $y = 3x + x^3$

$$\text{Then: } \frac{dy}{dx} = 3 + 3x^2 = 3(1+x^2).$$

Thus, the substitution rules says:

$$\int \frac{1+x^2}{\sqrt{3x+x^3}} dx = \int \frac{1}{\sqrt{y}} \frac{dy}{3} = \frac{2\sqrt{y}}{3} + C$$

$$= \frac{2}{3} \sqrt{3x+x^3} + C$$

② $\int \ln s \cdot s^5 ds = \int \ln s \left(\frac{s^6}{6}\right)' ds$, and integrating by parts

$$= (\ln s) \frac{s^6}{6} - \int (\ln s)' \frac{s^6}{6} ds = \frac{s^6}{6} \ln s - \int \frac{1}{s} \frac{s^6}{6} ds$$

$$= \frac{s^6}{6} \ln s - \int \frac{s^5}{6} ds = \frac{s^6}{6} \ln s - \frac{s^6}{6 \cdot 6} + C$$

$$\int (\ln s) s^5 ds = \frac{s^6}{36} (6 \ln s - 1) + C$$

③ $\int \cos^2 x \sin^3 x dx = \int \cos^2 x \sin^2 x \sin x dx =$

$$= \int \cos^2 x (1 - \cos^2 x)^2 (-\cos x)' dx = - \int u^2 (1 - u^2)^2 du$$

$$= - \int u^2 - 2u^4 + u^6 ds = - \left(\frac{u^3}{3} - \frac{2u^5}{5} + \frac{u^7}{7} \right) + C = - \left(\frac{\cos^3 x}{3} - \frac{2\cos^5 x}{5} + \frac{\cos^7 x}{7} \right) + C$$

$$\textcircled{4} \int \frac{1}{x^2 \sqrt{x^2+9}} dx \quad x = 3 \tan \theta \quad \frac{dx}{d\theta} = 3 \sec^2 \theta$$

$$\sqrt{x^2+9} = 3 \sqrt{\tan^2 \theta + 1} = 3 |\sec \theta| = 3 \sec \theta$$

$$\theta \in \left(-\frac{\pi}{2}, \frac{\pi}{2}\right)$$

$$= \int \frac{1}{9 \tan^2 \theta \cdot 3 \sec \theta} \cdot 3 \sec^2 \theta d\theta = \frac{1}{9} \int \frac{\sec \theta}{\tan^2 \theta} d\theta$$

$$= \frac{1}{9} \int \frac{\cos^3 \theta}{\sin^2 \theta \cos \theta} d\theta = \frac{1}{9} \int \frac{1}{\sin^2 \theta} \cos \theta d\theta = \frac{1}{9} \int \frac{1}{\sin^2 \theta} (\sin \theta)' d\theta$$

$$u = \sin \theta$$

$$= \frac{1}{9} \int \frac{1}{u^2} du = -\frac{1}{9u} + C = -\frac{1}{9 \sin \theta} + C$$

$$\tan \theta = \frac{x}{3} \Rightarrow \begin{array}{c} \sqrt{x^2+9} \\ \theta \\ 3 \end{array} \Rightarrow \sin \theta = \frac{x}{\sqrt{x^2+9}}$$

$$\Rightarrow \int \frac{1}{x^2 \sqrt{x^2+9}} dx = -\frac{1}{9} \frac{\sqrt{x^2+9}}{x} + C$$

$$\textcircled{5} \text{ Fubini: } \int_1^7 f(x) dx = \int_1^9 f(x) dx + \int_9^7 f(x) dx = \int_1^9 f(x) dx - \int_7^9 f(x) dx$$

$$= 12 - 12 = 0$$

$$\text{Then } 2 \int_7^9 f(x) dx - 3 \int_7^9 f(x) dx + \int_1^7 f(x) dx =$$

$$= 2(12) - 3(-1) + 0 = 24 + 3 = 27$$